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Aufgabe 5 - Losung

Animal

Animal:

~init (self, species
self. species species

move (self
"Tier weiss nicht konkret, wie es sich bewegen soll"

Bird

animal Animal
Bird(Animal
~_init (self, species, name
super(). 1init (species

self. name = name

move (self
self. species +

mit Name " + self. name + " fliegt"

Cow

animal Animal

Cow(Animal
~init (self, species, name
super(). 1init (species

self. name = name

move (self
self. species + " mit Name " + self. name + " lauft"

Fish

animal Animal
Fish(Animal

~init (self, species, name
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super(). 1init (species
self. name = name

move (self
self. species + " mit Name " + self. name + " schwimmt"
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